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Find the correct answers (a, b, ¢, or d) and mark them on your answers sheets.
1. They finally agreed on the project without any further argument.
‘Argument’ means
a. quarrel b. agreement c. acceptance d. achievement
2. Scientists have identified a new type of microbe. ‘Identified’ means ........... .
a. denied b. varied c. ignored d. recognized
3. Auguste Comte defined sociology the science of society.
a. as b. for c.1in d. like
4. A society patterns affect almost every organization inside it.
‘It’ refers to ........... .
a. pattern b. society c. almost d. organization

5. The use of modern technology in agriculture led to the huge production of crops known as the green

a. revolve b. revolved c. revolution d. revolutionary
6. Customs and experiences are handed over from one to another.

a. generate b. generates c. generation d. generated
7. The word means the person whose action or behavior is not normal or is different from
social standards.

a. deviant b. normal c. usual d. ordinary
8. The most influential model of society has probably been some version of society as a ......... .

a. person b. family C. group d. system
9. Structural functionalism is a of thought that focuses on how institutions function for the
continuation of the social system.

a. college b. school C. university d. house
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that he would be accepted in the university.
a. predictable b. predicted
c. prediction d. predictably
11. He lost the train to Tabriz, so he decided to find an alternative means to get there. * Alternative °
means ......... .
a. other b. same c. nothing d. no
12. A good manager should be consistent in his behaviors or acts.
‘consistent’ means ........ .
a. stable b. easy c. changing d. different
13. Weber, like Marx, saw society as a/n for power among various associational categories
including, but not limited to, classes.
a. acceptance b. agreement c. competition d. chance
14. Some Chinese inhabit this part of city. ‘Inhabit’ means ............. .
a. leave b. live C. move d. remove
15. If you go to another country, you should yourself to the new culture.
a. adjustable b. adjustment c. adjust d. adjusted
16. She is the of the match held in the university.
a. win b. winner C. winning d. winningly
17. The book was so that I read it many times.
a. irrevocable b. extensive c. fragile d. fascinating
18. Those who have power in that system do not want to alter it.
a. change b. fix C. remain d. stay
19. The papers reported two cases of , 1.e. two persons that killed themselves intentionally.
a. divorce b. birth C. marriage d. suicide
20. The new invention has a lot of in industry.

a. apply b. applied c. applications d. applies
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21. I have spent the entire day studying my English book. ‘Entire’ means.......... .

a. part b. sector c. whole d. most
22. In that country, a new form of social structure emerged. ‘Emerged’ means

a. hid b. appeared c. extended d. finished
23. He talked about his absence from his job.

a. convince b. convinces c. convincing d. convincingly
24. The branch of physics dealing with bodies or forces at rest is called.......... .

a. statics b. statistics c. demography d. thermodynamics
25. T asked him to assess the damages. ‘Assess’ means......... .

a. join b. evaluate c. increase d. decrease

26. Any given model emphasizes certain qualities of society and ignores others. ‘Ignores’ means

27. A myth is a popular but false notion that may be used to perpetuate certain beliefs. ‘Myth’ means

b. Coxd| g C. o)jk..»\ d. &LAb—‘
28. Families living in the cities had to buy food with their wages. ‘Wage’ means ........ .
a. o5 b.)ré C. 3w d..)J'.ASMJ
29. At that time urban problems were growing worse. ‘urban’ means ...... .
a. sy, b. & ¢ C. Sl d. L
30. Traditionally, social workers received their undergraduate training in sociology and allied fields
such as psychology and counseling. ‘traditionally’ means......... .

A s jsba b.C@UJJ C. S ysbw d. < 3
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